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1. �½e�ü��5�§|´Ä�NÚ´Ä(½:

(a)


x1 + x2 = 1

x2 + x3 = 1

x1 + x3 = 1

, (b)


x1 − x2 = 1

x2 + x3 = 1

x1 + x3 = 1

.

2. � α1, α2, α3, β1, β2, β3´¢ê, ��gõ�ª p(x) = ax2 + bx+ c÷v

p(αi) = βi, i = 1, 2, 3.

�Ñ p(x)�Xê a, b, c÷v��5�§|¿�ÑT�§|éA�XêÝ
Ú

O2Ý
.

3. �àg�5�§| H kü|) x1 = α1, . . . , xn = αnÚ x1 = β1, . . . , xn = βn.

y²: é?¿¢ê u, v,

x1 = uα1 + vβ1, . . . , xn = uαn + vβn

�´ H �).

4. |^êÆ8B{y²:
n∑

k=1

k2 =
n(n+ 1)(2n+ 1)

6
Ú

n∑
k=1

k3 =

(
n(n+ 1)

2

)2

.

5. ^ü«ØÓ��{y²��ª½n:

(a+ b)n =
n∑

k=0

(
n

k

)
akbn−k,

Ù¥
(
n
k

)
�Ll n�ÔN¥À k��|Üê, �P� Ck

n.

6. � 3× 4Ý


B =


6 0 −3 λ1

−5 −3 1 λ2

1 1 0 λ3

 ,

Ù¥ λ1, λ2, λ3´¢ê. � L´± B�O2Ý
��5�§|. £�e�¯K

¿`²nd:

(i) λ1, λ2, λ3I�÷v�o^�âU¦� L´�N�?

(ii) ´Ä�3 λ1, λ2, λ3¦� L´(½�?

1


